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HU5/3ก!� � 
3)  &$.D�'D(8�/3�/�#	�
��E�)67�!�$#!�3����G1กH�%
&$�'(
!
7�	�
.
HU5�)
7� 1-� 
4)  !8��!�
����G1กH�%
&$��C
�!D%
/��ก��    
5)  !�$#!�3�>D9�,ก���=�')�8=(���G1กH�%
&$�'(
!
7�	�
.
HU5  =8��!67�!
7�)
�)5'(
!�;��EC�

/$-�>�	�
�/G'(
�8��	�
�/G 
6)  )$*��	�$#	�3��
###�
D�����%
&$�'(
ก��.0���
����%
&$�>D9�,	�
!
/;
F�) 
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'������:��������ก��������4���&��	���)	�'��*	+�� 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 

%!��&����&'�(�������)"*+�,�� 

%!��&����ก��(��������&'�(�������)"*+�,�� 

-.�/0����ก�� 

/�1ก�� ก��(������������� 

/�1ก�� ก�������&�2� 

/�1ก�� ก��&�3�4�*5�678 

��������	
��ก	���	����ก	� 

�������	��
����	
����� 

����	�����
� !����"�#$%  

�&'��(ก)	�	
����� 

��������	
��ก	���	����	ก	� 

�*ก����!������
	 

������	+�	
����� 

����,����	ก	�!��
�����ก	� 

%�-%	�!��������
���	
����� 

��������	
��ก	���	����.	� 

ก	����
  ��/�&  !�����-, 

�,0�	ก�   !���	����+ 

�	0	��1	
�&'  !���	
�	.
� 

��ก�	�ก	�����  
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4����������ก� 
�����ก���������� (��)�������)��) 

&0��%���&���5	�
&0� &0��%�#34(�ก��&0�'�ก���	�
�F/ 43E%3*
 �0�'D�8�/��%
C�ก�� 

F�4%
C� 
/$-�D�. 

(�G1กH�
�8� 

/$-�D�.   
B�8�%�

G1กH��8� 

 9� 
��Cก�� 

)�$ก���
�D� 

%
/��($� 

)�$ก���
��Cก�� 

(@ก&9�� 
	�
&0� 

�$���
&9�� 

�%� 
	.

��ก 
	.
2/ 

	.
��, 

�%� G. �G. =G. �. �%� 

1. F�4%
C��กc#�ก,7�%'(
'	�!F�) 1  1 1      1         
2. F�4%
C��4�, 2  2 2      2         
3. F�4%
C���ก'##G
(		�
�3ก�5 1  1 1       1        
4. F�4%
C�%$!.3'(
2(Dก�� 1  1 1      1         
5. F�4%
C�Bjjb� 1  1 1      1         
                   
                   
                   

��������   1. �	���)���)������ �	

�)���3������ก��� 9 �(5��&>�)��	���7���)�������)��4�������
���	�? 3(� 
                 2. ���(	�
 ! 4  ���!��@��	����#ก���	6�'���	�
 !  17 ������ 2548 A 27 *B8)�ก��� 2549 
      3.  ���(	�
 ! 5  ���!��@��	����#ก�� 22 *B8)�ก��� 2548 A 30 *B8)�ก��� 2549 
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�����ก������	����� 
&0��%�#34(�ก�!��!�$#!�3� &0��%�#34(�ก��&0�'�ก���	�
�F/ 43E%3*
 

dk��/'=�ก/��� 
/$-�D�. 

(�G1กH�
�8� 

/$-�D�.   
B�8�%�

G1กH��8� 
 9���Cก�� 

)�$ก��� 
�D�%
/��($� 

(@ก&9�� 
	�
&0� 

)�$ก���
��Cก�� 

�$���&9�� �%� 	.��ก 	.2/ 	.��, 
�70�ก%8� 
	.��, 

�%� 

dk��#�
D�� 5 - 5 1 - - - 4 5 - - 3 2 5 

dk��%
C�ก�� 4 - 4 2 - - - 2 4 - 1 2 1 4 

dk��#�
ก�� 4 - 4 1 - - - 3 4 - - 2 2 4 
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�����'��*56�
 !E#���� 
	�
�F/D9�� 

C67���4�� C67�D9����,��/D9��	i
#$�
ก�� 
D9�� ��,�� D9�� 	i
#$�
ก�� 

 ��. 
(ก%9��x ��%) 

 ��.4%��&3 (4�) 

!"�#$�%
&$�'(
)$*�� D9��=@9�0��%�ก��  /  39.50  ���. 1 

 D9�����=@9�0��%�ก�� (1)  /  11       ���. 1 

 D9�����=@9�0��%�ก�� (2)  /  11       ���. 1 

 D9���กc#D�$�!6�  /  11       ���. 2 

 D9���( ��3ก��  /  23.50  ���. 3 

 D9��	�
C3�>DQ8 (	/3���%.,)  /   80      ���. 25 

 D9���-0� (=@9�0��%�ก��)  /     4     ���.  1 

 D9���-0�C�� (#�)  /     8      ���. 3 

 D9���-0�DQ
� (#�)  /     9      ���. 2 

 D9��!0��$ก��� (1)  / 102      ���. 12 

 D9��!0��$ก��� (2)  /   32      ���. 6 

 D9����ก!��  /   20      ���. 2 

 D9����D��  /   16       ���. 6 

 D9���-0�C�� ((8��)  /   12       ���. 3 

 D9���-0�DQ
� ((8��)  /     9       ���. 2 
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4������������$ 
 
�#	�
��E (	�
&0�	A  2549   :- 1 �.4.48 "1� 30 ก.�.49) 
����	� : -  
 �#	�
��E'=8�.
�       3,007,140.00   #�/ 
 �#	�
��E=(	�
2�C�5          657,820.00    #�/ 
 �#/,7B.9�$#!�$#!�3�&�กD�8%����F����ก                       #�/ 
 ���B.9�67� g           533,500.00      �������	�     4,198,460.00  #�/ 
���)��� 
 �������ก� 
  ��
��.6��  1,015,140.00   #�/     
  ��
�	�
&0��0�'D�8�          -             #�/ 

48�&9��	�
&0�                  -           #�/ 
48�&9��C$7%4��%    603,600.00   #� /   ���   1,618,740.00   #�/  

 ������'
�E#�����	�(� 
  48���#'/�      244,460.00   #�/ 
  48�>C9!��      167,584.24   #�/  
  48�%$!.3!0��$ก���       259,150.53   #�/ 
  48�%$!.3deก            -           #�/ 
  48�I8��'I�            -            #�/   ���     671,194.77   #�/ 
 ������(����      
  #�
ก��%
C�ก��            -            #�/ 
  ���%
&$�      946,000.00   #�/    
  �67� g            -              #�/   ���     946,000.00   #�/ 
 ������
������
���	�?                             -             #�/ 
 ����
��  
  /,7.
� !
7�ก8�!�9��             -                #�/ 
  4�3F$E`5              -               #�/  
  �67� g              -                #�/                     ������)���    3,235,934.77   #�/ 
����$#��กก%8����&8�� (���&8����กก%8�����$#)                   962,525.23    #�/ 
48��!67����4�4�3F$E`5!
7�ก8�!�9��	�
&0�	A B�8>C948��!67����4�!
!�( E %$�/,7 30 ก.�. 49)               373,952.03    #�/ 
��(������ก��
	6���6� (�%����&8��D$ก�#(�/3�#%ก48��!67����4�)              3,609,886.80    #�/ 
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4����������)	�'����!����(�JK� 
- �4�67��=(
�ก�
.�H!��8���67��     2.�!"�#$�%
&$�'(
)$*��     .�.�
!�,�5    D��H�&�@Q2�&�5          
�#	�
��E/,7B.9�$#  1,892,000 #�/ 
 

4�����ก�����ก����#�ก�� 
 24��ก��#�
ก��/��%
C�ก��'ก8!$�4� ��4(
�
ก�/42�2(�    I17�B.9�$#�#	�
��E&�ก
ก�
/�%�%
/��G�!��5'(
�/42�2(�,  �,.$��8�B	�,- 
 1. 24��ก��#�
ก��>D940�	�,กH�'(
#�
ก�� 9��@(�/42�2(�,   �#	�
��E 100,000 #�/   
  24��ก��/,7B.9�$#�#	�
��E&�กF��>� �,.$��8�B	�,- 

2. ����
/��Gก�� n"���/42�2(�, 2006o  E �
�')c4 ��6��/��;��,  �#	�
��E 37,300 #�/ 
3. ����
/��Gก�� n���%
/��G�!��5'(
�/42�2(�,'D8�C��
  	�
&0�	A 2549o  E G@��5�
/��Gก��'(
 

ก��	�
C3�B#�/4  �#	�
��E  21,570 #�/ 
4. ����
/��Gก�� n����(�.�$./�$)�5!
�/��	aQQ� 2549 (Thailand IP Fair 2006 : TIPF 2006)o 

E �
�')c4 ��6��/��;��,  �#	�
��E 11,135 #�/ 
 

4�����ก��
����������8����	+�%��� 
 !"�#$�%
&$�'(
)$*��B.9�8%�!8��!�
�G
(	
'(
%$*��;��� 2.�� 9��8%�ก
&ก����8�� g  ก$#
�D�%
/��($� .$��,-            
 1.    !"�#$�%
&$�'(
)$*��B.9&$.)38�ก$E 5̀�/G�5�D�C��
 1 )38� '(
 )38�=9�	k�!��$44, 1 )38� � 9��8%�
)
;, '(
!8�#34(�ก�� 9��8%���� 
    2. �����C��4(!6#!��!�ก����5B/� !"�#$�%
&$�'(
)$*��!8�#34(�ก�� 9��8%���� '(
C8%�	i
#$�

D�9�/,7�8%�ก$#!"�#$�%$*�;����+(
�)�
�ก,���
 %$�/,7 18 ��H���  2550 
 

4��������������5�E�ก��)	(ก��8>กJ������)	� ������ก����#�ก��ก	��������������ก 
- B.9/0� 9��ก(�24��ก��4%���8%��6��
D%8��ก�
/�%�%
/��G�!��5'(
�/42�2(�, ก$#�D�%
/��($�_ 
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�

 ! 2 
�������ก	���$��*���E�  

 

>�C8%�	A ).G. 2539 �	?��9��� �D�%
/��($�_ก��G1กH��ก6�#/3ก'D8�B.9�=C
Qก$#4%���	(,7��'	(�
��8��>DQ8D(%�>�.9��ก��)$*��ก��G1กH� 2.��+)�
��8���
7�ก��	�
ก$�43EF�)ก��G1กH� .9%��D�3/,7>�
�
##ก��&$.ก��G1กH�>�C8%��$-��$�B�8�,�
##ก��	�
ก$�43EF�)ก��G1กH�/,7C$.�&� !"��	�
ก�#ก��>�
U��
=@9>C9'�����B.9>D9 9��@(%8�43EF�) ���$กG1กH�>�'�8(
'D8�'�ก�8��ก$� .$��$-� !"��G1กH�&1�4%�&$.
ก��G1กH��)67���#!���4%���9��ก�� ���(�.'����� �)67�>D9=@9�$##�
ก���,4%���$7�>&!"��G1กH�>D9#�
ก��
/��ก��G1กH�/,7�,43EF�)!@8�(�.'�����	�
ก�#ก$#)�
��C#$QQ$�
ก��G1กH�'D8�C��
D�%./,7 6  ��67�� 
����U��ก��	�
ก$�43EF�)ก��G1กH� B.9ก0�D�.>D9!"��G1กH��,�
##ก��	�
ก$�43EF�) 2.�>D9
!"��G1กH�&$./0�>D9�,�
##ก��	�
ก$�43EF�)F��>� '(
>D9�,!0��$ก����$#�������U��'(
	�
��
�
43EF�)ก��G1กH� (!�G.) >�U��
�	?���45ก��D�C� /0�D�9�/,7	�
��
�43EF�)F����ก �)67�>D9�,ก��
��%&!�#43EF�) ��!"��G1กH� '(
�!��=(ก��	�
��
��8�D�8%����/,7�ก,7�% 9��'(
!�;��EC��$-� 
�D�%
/��($��/42�2(�,��C��4(B.9�0��
## ISO 9000 : 2000 ��	�
�3ก�5>C9>�ก��&$.ก��G1กH� &1�/0�>D9
ก��	i
#$�
���/$-��
## ���D�%
/��($�_ �, $-���� %
;,ก�� !����"/%�!�#ก��/0����B.9 '(
�,�8����� ��
D($กU�� �	?�ก���6��$�ก
&ก����8�� g /0�>D9�$7�>&B.9%8�!"��G1กH�B.9.0���
�ก��F��>�9ก(Bก43EF�)��8��
'/9&�
� I17�"6�B.9%8��	?�ก��	�
ก$�43EF�)F��>� ��!"��G1กH� 

�D�%
/��($�_  B.9�0��
###�
D�����43EF�)  ISO  9000 : 2000 ��>C9�	?��
##	�
ก$�43EF�)
F��>�  �, �# 8��ก���$#���4��#4(3�"1�  ก��&$.ก��G1กH��
.$#	�
ก�G�,�#$��%
C�C$)C$-�!@�  (	%!.)  '(

�
.$#	�
QQ���,  ก��#�
ก��%
C�ก��'ก8!$�4�  ก��#�
D��&$.ก��/,7�ก,7�% 9��ก$#ก��&$.ก����,��ก��!��  
�%�/$-�ก�
#%�ก��ก��#�
D��/,7�ก,7�% 9��ก$#���%
&$�  /$-��,-/0�>D9�D�%
/��($�_  �,ก��#�
D��ก�
#%�ก��
��8���	?��
##'(
2	�8�>!  '(
�0���I17�ก��	�$#	�3�	�
!
/;
F�) 	�
!
/;
=('(
!���"�
 ��
�D�%
/��($�_ ��8���8���67��2.�)
&��E�"1�4%���9��ก�� ��=@9�,!8%�B.9�!,� ���D�%
/��($�_ B.9'ก8
�$กG1กH�,  =@9	ก4���,  !"��	�
ก�#ก��,  C3�C�!$�4�  �(�.&�!
7�'%.(9���8�� g 

ก���0��
## ISO 9000 ��>C9>�ก��	�
ก$�43EF�)F��>�/0�>D9�D�%
/��($�_ 
1. �,ก��ก0�D�.'(
!8��!�
�>D9�ก
.ก�
#%�ก��I17��0�B	!@8ก��	�$#	�3�!���"�
 ���D�%
/��($�_ 
2. /0�>D9B.9��'(
>C9 9��@(&�กก�
#%�ก���8�� g  �%�/$-�!��!��/G��8���8���67�� 
3. ��9�ก�
#%�ก��	�$#	�3���8���8���67�� 
4. >C9%
;,ก��/,7�D��
!��)67�	�
��
�'(
	�$#	�3�ก�
#%�ก���C8�ก��&$./0�������ก��	�
��
�

����� (Self Assessment Report : SAR) '(
ก��/#/%�2.�dk��#�
D�� (Management 
Review) 
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ก��	�
ก$�43EF�)F��>�.9%��
## ISO 9000 �D�%
/��($�_ B.9�,	�
�3ก�5D($กก��>�ก���0�'(

.0���
�ก��/,7�0�B	!@84%��!0���c& 2.���@8#�D($กก��#�
D�����43EF�) 8 	�
ก�� 	�
ก�#.9%� 

1. ก��>D94%��!0�4$Qก$#(@ก49� :- �D�%
/��($�_ B.9/0�4%��� 9�>&ก$#4%���9��ก�� ��(@ก49�/$-�>�
	a&&3#$�'(
���4� �(�.&�/0�>D9B.9���4%���9��ก��'(
/D�6���กก%8�4�.D%$� ��(@ก49� I17�
(@ก49�>�/,7�,-46� �$กG1กH� G
H�5�ก8� =@9	ก4��� !"��	�
ก�#ก�� C3�C�/!$�4� '(
=@9�$##�
ก�� 

2. ก���	?�=@9�0� :- �D�%
/��($�_ B.9�,ก0�D�.%
!$�/$G�5 �	b�D���'(
/
G/�� ��D�8%���� '(
/0�
>D9#34(�ก��,!8%��8%�>�ก��/0�>D9�	b�D��� ���D�%
/��($�_ #��(3=( 

3. ก���,!8%��8%� ��#34(�ก� :- �D�%
/��($�_ "6�%8�#34(�ก�/3ก�
.$#46�D$%>&!0�4$Q ��
�D�%
/��($�_ '(
ก��� 9����,!8%��8%�>�ก��#�
D����8����c�/,7&
/0�>D9�ก
.	�
2�C�5!@�!3.�8�
�D�%
/��($�_ 

4. ก���38���9�ก�
#%�ก�� :- ก��#�
D��/�$)��ก�>�!8%�/,7�ก,7�% 9��B.9'ก8 �#	�
��E #34(�ก� 
�4�67���6�/�3	ก�E5 �(�.&�ก
&ก����8�� g ���)$�;ก
& ���D�%
/��($�_ &
�9��.0���
�ก��>�
�@	 ��ก�
#%�ก��&
/0�>D9�D�%
/��($�_ !����"#��(3=(���/,7ก0�D�.B%9B.9��8���,
	�
!
/;
F�)��ก 1-� 

5. ก��#�
D�����/,7�	?��
## :- �D�%
/��($�_ ��9�/,7&
/0�4%��� 9�>&'(
#�
D��ก�
#%�ก��
/0���� ��ก
&ก����8�� g /,7 �ก,7�% 9��ก$���8���	?��
## I17�&
C8%��)
7�	�
!
/;
F�)'(

	�
!
/;
=( ���D�%
/��($�_ >�ก��#��(3�	b�D��� 

6. ก��	�$#	�3���8���8���67�� :-  �D�%
/��($�_ B.9ก0�D�.>D9/3กD�8%�����,ก��	�$#	�3�!���"�

2.��%� ���D�%
/��($�_ ��8���8���67�� '(
"6��	?�%$�"3	�
!�45"�%� ���D�%
/��($�_ 

7. ก���$.!
�>&#�)6-�U��4%���	?�&�
� :- �D�%
/��($�_ B.9>D94%��!0�4$Q �� 9��@(/!��!��/G 
2.��,'�%4
./,7%8�	�
!
/;
=( ��ก���$.!
�>&�$-���@8#�)6-�U��ก��%
�4��
D5 9��@('(
!��!��/G 

 

8. 4%��!$�)$�;5ก$#=@9!8���# :- �D�%
/��($�_ '(
=@9 ��/=@9!8���# &
�9��)17�)���G$�ก$�'(
�,
4%��!$�)$�;5#�=(	�
2�C�5�8%�.9%�ก���!�
�!�9�� ,.4%��!����"/$-�!��dk��>�ก��!�9��
�@(48��)
7�>D9ก$#�D�%
/��($�_ 

 

 &�กD($กก��.$�ก(8�% 9���9�/$-�D�. �D�%
/��($�_ B.9ก0�D�.>D94E
/%
/��� �_ D�8%����
!�$#!�3�>�!$�ก$.�0��
###�
D�����43EF�) ISO 9000 ��>C9�	?��
##ก��	�
ก$�43EF�)F��>�/3ก
D�8%���� �(�.&�ก0�D�.>D9/3กD�8%�����9��.0���
�ก����%&�
.���43EF�)F��>���8���9��	A(
 2 4�$-� 
'(
�D�%
/��($�_ &
� 9�/0�ก����%&�
.����)67�!�9��4%���$7�>&>D9ก$#�
##%8��$�4���@8'(
�$กH��
##
#�
D�����43EF�)B.9��8���8���67����8���9��	A(
 1 4�$-� 2.���67��,ก����%&�
.���43EF�)F��>�'(9%
D�8%����&
�9���,ก��&$.	�
C3�/#/%�2.�dk��#�
D�� ��D�8%���� �)67�/#/%��
##'(
�0�	aQD� 
 9��!��'�
 �(�.&� 9��@(/!��!��/G>D9=@9#�
D�� ��D�8%����/��#��8���9��	A(
 4 4�$-� ��ก&�ก�$-�
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�D�%
/��($�_ �$�&$.>D9�,ก��/#/%�2.�dk��#�
D�� ���D�%
/��($�_ ��8���9��	A(
 2 4�$-� �)67�/#/%�
�
##_  	aQD�  9��!��'�
  9��@(/!��!��/G>�F�)�%� ���D�%
/��($�_ �8�B	.9%� 

	a&&3#$��D�%
/��($�_ B.9�0�'�%/��ก��	�
ก$�43EF�)F��>�����
###�
D�����43EF�) ISO 
9000 : 2000 '�%/��ก��#�
D��&$.ก��!@84%���(
G (Thailand Quality Awards : TQA) ก
&ก��� 5! , Kaisen 
�(�.&�'�%/��ก��	�
ก$�43EF�) ��!0��$ก����$#�������U��'(
	�
��
�43EF�)ก��G1กH� (!�G.) 
'�%/��ก��	�
ก$�43EF�) ��!0��$ก���4E
ก���ก��ก���3.�G1กH� (!ก�.) ��	�
�3ก�5-	�$#	�3��	?�4@8�6�
ก��	�
ก$�43EF�)F��>� ���D�%
/��($�_ I17�	�
ก�#.9%� 

1. 4@8�6�ก��	�
ก$�43EF�)F��>�.9��ก��&$.ก����,��ก��!�� (RMUTTQA-ACD) 
2. 4@8�6�ก��	�
ก$�43EF�)F��>�.9�����%
&$� !
7�	�
.
HU5'(
�%$�ก��� (RMUTTQA-

RES) 
3. 4@8�6�ก��	�
ก$�43EF�)F��>�.9��ก��#�
ก��%
C�ก��'ก8!$�4� (RMUTTQA-SEV) 
4. 4@8�6�ก��	�
ก$�43EF�)F��>�.9��!�$#!�3�%
C�ก�� (RMUTTQA-ACS) 
5. 4@8�6�ก��	�
ก$�43EF�)F��>�.9��!�$#!�3�/$7%B	 (RMUTTQA-GES) 

 
 

4	6����'����% ก��(������ก������������ก	���$��*���E� 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

����������&��ก��$� 
(SWOT Analysis) 

�:������$��*4�������
���	�? 

)	(�	6��$�ก���ก��*	+�� 
������$��* 

�����������������ก�� 
4������	����ก��ก��8>กJ� 

�	(��5�ก���5!���5�E�ก��
)	(
��������������$��* 

����K���W))	����# 6                    
ก�����������$��*ก��8>กJ� 

ก����('��ก���
%� 

ก����('���@��	�� 

(������ก���@��	�����'�� 
(PDCA) 

ก�)ก�����	����� 

- 9:ก/(�  

- ;��ก��<=ก6� 

- ก���.�;� 

- ก��&>3/&�� 

- ?��*-.��0� 

ก�����#��
�
�� 

%5�9@��(�����/ 
ก����(������*5!����#�� 
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ก�
#%�ก��>�ก��	i
#$�
�����9�ก��/0�����C
�	b��ก$� '(
�,ก���
.���=(ก��)$*����8���8���67��
.9%�D($ก PDCA ก��	�
C3�4E
ก���ก��#�
D��43EF�)�	?�D�8%����=($ก.$�      >D9�,ก��)$*��'(
ก��
 $#�4(67�� ���
##��ก!�� �,��ก!���	?�D($กU�� '(
�,'�%/��ก��	i
#$�
��8��C$.�&� 
 
��ก���ก��(�������������������ก	���$��*���E� 
 1. 4@8�6�43EF�) (Quality Manual : QM) �	?���ก!���
##43EF�)�
.$#/,7 1 �	�,�#�!�6���	?�
;����@Q/,7�9���1."6�	i
#$�
 '!.����(
��,�. ���
##2.�F�)�%� ��ก!���
##43EF�)           >��
.$#
�67� g �9��B�8 $.'�9�ก$#4@8�6�43EF�) 
 

2. 4@8�6�ก��	�
ก$�43EF�)F��>� (Internal Quality Assurance Manual : RMUTTQA �	?���ก!��
�
##43EF�)�
.$#/,7 2 I17���,�กB.9%8��	?�D$%>& ����ก!���
##43EF�) '!.�"1����       (
��,�.ก��
	i
#$�
���>�'�8(
ก�
#%�ก��/0���� >4� /0��
B� /,7BD� ��8��B� ��67�>. D�ก�ก
.	aQD�&
'ก9	aQD�'(

	b��ก$���8��B� I17�'#8��	?� 5 .9��46� .9��ก��&$.ก����,��ก��!�� (ACD) .9�����%
&$� !
7�	�
.
HU5 
�%$�ก��� (RES) .9��#�
ก��%
C�ก��'ก8!$�4� (SEV) .9��!�$#!�3�%
C�ก�� Z(ACS) '(
.9��!�$#!�3�/$7%B	 
(GES) 

��&ก(8�%B.9%8� ��ก!���	?�D$%>& ���
##43EF�) /$-��,-�)��
/3ก4��9��/0���������ก!��/,7� ,��
B%9'(
#$�/1กB%9�	?�(��($กHE5�$กH� !����"��%&!�#B.9�(�.�%(� 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 

�4 ����ก������
 !
�� 


�
��'�� 

2//�1 �A�;��B/ก&�� 

���#����	����� 

B/ก&�� 

������4������ก*���� 
�W
��
 !�ก�()�ก 

ก��;��B/ก&�� 

�@��	�������� 

B/ก&��CD3/�1 �A�)"�� 
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>�!8%� ��ก��	i
#$�
������ก�
#%�ก�� �	?�!8%� ��D�8%����.0���
�ก��2.��,       ก��
ก0�D�.24��!�9�� ���
##43EF�).$��,- 

 
 
 
 
 
 
 
 
 
 
 

 
�$#B.9%8��D�%
/��($�_ B.9�,ก��)$*���
##	�
ก$�43EF�)F��>���8���8���67�� B.9�,ก��.0���
�ก��

����
##	�
ก$�43EF�)F��>� ���D�%
/��($�_ /$7%/$-���45ก�� (Total Quality Management) �(�.&�
B.9�$#ก��!�$#!�3�'(
=($ก.$�&�ก=@9#�
D�� ���D�%
/��($�_ /,7B.9>D94%��!0�4$Qก$#�
##ก��	�
ก$�
43EF�)F��>� ���D�%
/��($�_ �$�&
�0��D�%
/��($�_ B	!@8%
!$�/$G�5/,7%8� n�D�%
/��($��/42�2(�,��C
��4(;$Q#3�, �	?��D�%
/��($�_ C$-��0�/��.9��%
/��G�!��5'(
�/42�2(�,�
.$#!�ก(o  
 
 
 
 
 
 
 
 

�;
ก��#., 
�D�%
/��($�_�/42�2(�,��C�4(;$Q#3�, 

4E
ก���ก��)$*���
## 
	�
ก$�43EF�)ก��G1กH��
.$#�D�%
/��($�_ 

4E
ก���ก��)$*���
## 

	�
ก$�43EF�)ก��G1กH� ��4E
/%
/��� � 

!0��$ก)$*��'(
#�
ก��%
C�ก�� 
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�

 ! 3 
������ก������������������������ก�� 

������ก���������������������ก��
 ! 1 ��	#
� �$�%�� �	�&�������� '��'��(��������� 
�	����# 6


 ! 
#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 

��'��ก��
������������ 

1.1 �,ก��ก0�D�.	�$CQ�D�6�	E
;���(�.&�
�,ก�
#%�ก��)$*��ก(�3/;5 '=�ก��
.0���
����'(
�,ก��ก0�D�.�$%#8�C,-�)67�%$.
4%��!0���c& ��ก��.0���
�������'=�>D9
4�#/3กF��ก
&  
 
 
 
 
 
 
 
 
 
 
 

1.�,ก��ก0�D�. %
!$�/$G�5 �	b�D��� F��ก
& '(

ก(�3/; ��!"�#$�%
&$�'(
)$*�� 
2.�,ก��)$*��#34(�ก� '=�ก��.0���
����'(

'=�	i
#$�
ก��	�
&0�	A>D9!�.4(9��ก$#F��ก
&
D($ก ��!"�#$��3/;G�!��5'(
'=�)$*�� ��
C��
 
3.�,ก��ก0�D�.�$%#8�C,- ��ก��.0���
����  
'(
ก0�D�.�	b�D��� ��'�8(
�$%#8�C,-�)67� 
%$.4%��!0���c& ��ก��.0���
����  
4. �,ก��.0���
�ก�����'=�4�#/3กF��ก
&  
5. �,ก���
.��� ��%&!�# '(
	�
��
�=(ก��
.0���
� �������$%#8�C,- ��8���9��	A(
 2 4�$-� 
'(
������=(  �8�=@9#�
D��'(
!F�!"�#$�  
 

�ก$[�����K�� : ��(	�  
1.�,ก��ก0�D�.	�$CQ�D�6�	E
;��  
2.�,ก�
#%�ก��)$*��ก(�3/;5 '=�ก��.0���
����'(

'=�	i
#$�
ก��	�
&0�	A>D9!�.4(9��ก$�'(
ก$�'(
!�.4(9��
ก$#F��ก
&D($ก ��!"�#$��3/;G�!��5'(
'=� )$*�� ��C��
  
3.�,ก��ก0�D�.�$%#8�C,- ��ก��.0���
����'(
ก0�D�.�	b�D��� 
 ��'�8(
�$%#8�C,-�)67�%$.4%��!0���c& ��ก��.0���
����  
4. �,ก��.0���
�ก�����'=�4�#/3กF��ก
&  
5. �,ก���
.��� ��%&!�# '(
	�
��
�=(ก��.0���
� ������
�$%#8�C,- ��8���9��	A(
 2 4�$-� '(
������=(  �8�=@9#�
D��'(

!F�!"�#$�  
6.�,ก��%
�4��
D54%��!�.4(9���
D% 8��ก(�3/;5'=�ก��
.0���
���� �	b�	�
!�45�	 b�D���ก$#�3/;G�!��5'(

'=�)$*�� ��C��
�(�.&�!F�)ก��E5	a&&3#$�'(
'�% 
2�9�>����4���8��!�70��!��  
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������ก���������������������ก��
 ! 1 ��	#
� �$�%�� �	�&�������� '��'��(��������� 
�	����# 6


 ! 
#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 

��'��ก��
������������ 

   7.�,ก���0�=(ก��	�
��
�'(
=(ก��%
�4��
D5��	�$#	�3�ก(�3/;5
'(
'=�ก��.0���
������8���8���67�� 
�ก$[�ก���������  : 
1 ��'�� = �,ก��.0���
�ก��B�84�# 5  9�'�ก 

2 ��'�� = �,ก��.0���
�ก��  5 - 6   9�'�ก 
3 ��'�� = �,ก��.0���
�ก��4�#/3ก 9� 
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)�(�(�� 
�D�%
/��($���#�	?��2�#��/,7C$.�&� 

 
�W))	���	����� 

#34(�ก� ��!"�#$�%
&$�'(
)$*���,4%���$-�>&>�ก��	i
#$�
������'=�  
 
�W
��'��������� 

-  �.#34(�ก�>�.9��ก��%
�4��
D5�
## 

 
)�(
 !���*	+�� 

-       )$*��#34(�ก�>�.9��ก��%
�4��
D5�
## 
 
4�������ก���������� 
 -     %
!$�/$G�5  )$�;ก
&  �	b�D��� ก(�3/;5 ��!"�#$�%
&$�'(
)$*��  (��ก!��D����(  1.1.1) 
 -       ��ก!��!�3	=(ก��%
�4��
D5&3.' c�  &3.�8��  F$�43ก4��  2�ก�! ��!"�#$�%
&$�'(
)$*��  (��ก!��D����(  1.1.2) 

-      ��ก!��40� ��!�� ��#	�
��E	�
&0�	A ).G. 2549   (��ก!��D����(  1.1.3) 
-      #$�/1ก 9�4%��/,7 G;. 0578(!%).)/967   (�%$�/,7   30 ;$�%�4� 2548   (��ก!��D����(  1.1.4) 
-      ��ก!��!�3	=(ก��.0���
�����!���8�=@9#�
D��    (��ก!��D����(  1.1.5) 
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������ก���������������������ก��
 ! 1 ��	#
� �$�%�� �	�&�������� '��'��(��������� 
�	����# 6


 ! 
#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 

��'��ก��
������������ 

1.2 �9��(
 ��ก��#��(3�	b�D�������$%#8�C,-
 ��ก��	i
#$�
���/,7ก0�D�. 

  
 

1. &0��%��$%#8�C,- ��'=�	i
#$�
���	�
&0�	A
�#	�
��E/$-�D�......11......�$%#8�C,- 

2. &0��%��$%#8�C,- ��'=�	i
#$�
���	�
&0�	A
�#	�
��E/,7#��(3�	b�D���.......7..........�$%#8�C,- 

3. �9��(
 ��ก��#��(3�	b�D�������$%#8�C,- ��ก��
	i
#$�
���/,7ก0�D�.�/8�ก$#�9��(
........63.3 
(2x100)/1 

�ก$[�ก���������  : 
1 ��'�� = #��(3�	b�D����9��(
 60-74 

2 ��'�� = #��(3�	b�D����9��(
 75-89 
3 ��'�� = #��(3�	b�D����9��(
 90-100 

 
 
1 

 

)�(�(�� 
-     �$ก%
&$� ���D�%
/��($�>D94%���8%��6� �8�ก��.0���
�ก
&ก��� 

�W))	���	����� 
-    �D�%
/��($�>D9ก��!�$#!�3����/��.9��%
&$� 

�W
��'��������� 
- �ก
.ก��	�$#�	(,7��'=����I17��,!��D�3&�ก 9�&0�ก$. ���#	�
��E/,7B.9�$#/0�>D9�9��(.&0��%�24��ก��&�ก'=�.$��$-� &0��%��$%C,-%$./,7#��(34%��!0���c&  

&1��,	�
��E(.(�.9%� 
)�(
 !���*	+�� 

-     ������������-����������������������................................. 
4�������ก���������� 

- #$�/1ก 9�4%��/,7 G;.0578(!%).)/ 967 (�%$�/,7 30 ;$�%�4� 2548         (��ก!��D����(  1.2.1) 
- #$�/1ก 9�4%��/,7 G;.0578(!%).)/ 169 (�%$�/,7 25 ��H��� 2549         (��ก!��D����(  1.2.2) 
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- #$�/1ก 9�4%��/,7 G;.0578(!%).)/ 317 (�%$�/,7 19 ก�ก��4�  2549      (��ก!��D����(  1.2.3) 

 
������ก���������������������ก��
 ! 1 ��	#
� �$�%�� �	�&�������� '��'��(��������� 

�	����# 6

 ! 

#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 
��'��ก��

������������ 

1.3 �,ก�
#%�ก��)$*��ก(�3/;5 (Strategy) '(
'=�	i
#$�

ก�� (Action Plan) �,ก��ก0�D�. KPI !�.4(9��ก$#'=�
ก(�3/;5 '(
�)67�>D9#��(3'=�ก(�3/;5'(
'=�	i
#$�
ก��
4�#/3กF��ก
& (ก����,��ก��!�� ก��%
&$� ก��#�
ก��
%
C�ก��'ก8!$�4� '(
ก��/0��3#0��3�G
(	%$*�;���) 

1. &0��%� KPI  ��'�8(
ก
&ก���/,7
!�.4(9��ก$#'=�ก(�3/;5/$-�D�.      
2   KPI 

2. &0��%� KPI  ��'�8(
ก
&ก���/,7
#��(3����	b�D���/,7B.9ก0�D�.B%9     
2    KPI 

3. �9��(
 �� KPI  ��'�8(
ก
&ก���/,7
#��(3����	b�D���/,7B.9ก0�D�.B%9
�/8�ก$#�9��(
 100 (2x100)/1 

 

�ก$[�ก���������  : 
1 ��'�� = �9��ก%8��9��(
 60 

2 ��'�� = ��กก%8�D�6��/8�ก$#�9��(
 60  
3 ��'�� = ��กก%8�D�6��/8�ก$#�9��(
 80 

 
 
 
3 
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)�(�(�� 

-     �$ก%
&$� ���D�%
/��($�>D94%���8%��6� �8�ก��.0���
�ก
&ก��� 
�W))	���	����� 

-     �D�%
/��($�>D9ก��!�$#!�3����/��.9��%
&$� 
�W
��'��������� 

-     ���������������-�������������������................................. 
)�(
 !���*	+�� 

-     ���������������-�������������������................................. 
4�������ก���������� 

- ��ก!��%
!$�/$G�5  )$�;ก
& �	b�D��� '(
ก(�3/; !"�#$�%
&$�'(
)$*�� (��ก!��D����(  1.3.1) 
- #$�/1ก 9�4%��/,7 G;.0578 (!%))/169 (�%$�/,7 25 ��H��� 2549          (��ก!��D����(  1.3.2) 
- #$�/1ก 9�4%��/,7 G;.0578 (!%))/317 (�%$�/,7 19 ก�ก��4� 2549        (��ก!��D����(  1.3.3) 
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 ! 2 ���ก�)��	ก : �����������'��*	+���	ก��)	� 
�	����# 6


 ! 
#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 

��'��ก��
������������ 

2.25 �,�
##'(
ก(Bกก��)$*��'(
#�
D�����%
&$� 
 
 
 
 
 

1. �,ก��%��'=� �
##ก��!8��!�
����%
&$� 
'(
)$*���$ก%
&$� ���D�%
/��($�_ 
2 .  �, ก � � &$ . � # � � =@9 # �
 D � � � � � %
 &$ �  � �
D�8%�����8�� ���D�%
/��($� >�ก��%��'=�
���%
&$� ���D�%
/��($�>D9!�.4(9�����
�3/;G�!��5ก��%
&$� ��C��
 
3 . �, ก �� �!�� '�8 ��$- �4 E
 ก� �� ก� �' (

��3ก���ก��#�
D�����%
&$��)67�)
&��E�
 9��!�����%
&$� !� �%
&$��8�� g  
4. 	�
!��ก$#'D(8�/3�F����กก$#�$ก%
&$� ��
�D�%
/��($� 
5.�ก�8���
�#,�#/,7!�$#!�3�'(
�ก
.4%��
4(8���$%>�ก��.0���
����%
&$� 
6. �,ก��deก�#���)67�)$*��43EF�)�$ก%
&$� 
7. !�$#!�3�'(
!8��!�
�>D9�$ก%
&$�B	�!��
=(���%
&$�/$-�>�	�
�/G'(
�8��	�
�/G2.�
ก��&$.!��/3�>D9#��!8%� 

�ก$[�����K�� : 
1. �,ก��%��'=� �
##ก��!8��!�
����%
&$� 
'(
)$*���$ก%
&$� ���D�%
/��($�_ 
2. �,ก��'�8��$-�4E
ก���ก��#�
D�����%
&$�  
3. �,ก��	�
!��ก$#'D(8�/3�F����กก$#
�$ก%
&$� ���D�%
/��($� 
4. �,�
�#,�#  9�#$�4$# /,7!�$#!�3�'(
�ก
.
4%��4(8���$%>�ก��.0���
����%
&$� 
5. �,ก��deก�#���)67�)$*��43EF�)�$ก%
&$� 
6. �,ก��!�$#!�3�!8��!�
�>D9�$ก%
&$�B	�!��
=(���%
&$�/$-�>�	�
�/G'(
�8��	�
�/G 
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 ! 2 ���ก�)��	ก : �����������'��*	+���	ก��)	� 
�	����# 6


 ! 
#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 

��'��ก��
������������ 

2.25   �ก$[�ก��������� : 
1  4
'�� =   �,ก��.0���
�ก��B�84�# 3  9� 
2  4
'��  =  �,ก��.0���
�ก�� 3-4  9� 
3.  4
'��  =  �,ก��.0���
�ก����8���9�� 5  9� 
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&$��)67� ��$#/3�!�$#!�3����/,7'D(8�/3��9��ก�� 
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2. &0��%���
�!�$#!�3����%
&$�'(
���!�9��!��45&�ก�#���B.9(�#
=(	�
2�C�5) �/8�ก$#  1,617,470   #�/ 

3. �%�&0��%���
�!�$#!�3����%
&$�'(
���!�9��!��45&�กF��>� 
�/8�ก$#   25,275,870   #�/   (1+2) 

4. &0��%���&���5	�
&0�/$-�D�. (B�8�$#�%�/,7(�G1กH�) 812 4� 
5. ��
�!�$#!�3����%
&$� ���!�9��!��45&�กF��>�!"�#$��8�&0��%�

��&���5	�
&0�   31,127.92   #�/�8�4�  (3/4) 

�ก$[�ก���������  : 
1 ��'�� = ��@8�
D%8�� 1 - 16,999.- #�/ 

2 ��'�� = 17,000.-#�/ h 24,999.- #�/ 
3 ��'�� = ��กก%8�D�6��/8�ก$# 25,000.- #�/ 
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!"�#$�%
&$�'(
)$*���,ก��!�$#!�3�>�ก��&$.ก
&ก����#��!$����>D9ก$#��&���5'(
#34(�ก� ���D�%
/��($�_ >D9�,4%���@9  4%��!�����">�ก��/0�%
&$� 
 
�W))	���	����� 

-  �D�%
/��($��,�2�#��!�$#!�3�>D9��&���5'(
#34(�ก�   /0�%
&$�B.9/3ก	�
�F/ 

-  ��&���5'(
#34(�ก� ���D�%
/��($�_   >D94%��!0�4$Q ��ก��/0�%
&$� 
 
�W
��'��������� 

-  �#	�
��E/,7B.9�$#&$.!���,&0��%��9����67��/,�#ก$#�#	�
��E/,7�!�� � /0�>D9�$ก%
&$��38�>D�8 �.2�ก�! 
-  �#	�
��E=(	�
2�C�5/,7&
>D9ก$#�$ก%
&$��,&0��%��9���ก
�B	 

 
)�(
 !���*	+�� 

 '!%�D�'D(8�/3�&�กF����ก� 9���>D9ก��!�$#!�3�  �)67�>D9�$ก%
&$�/3ก4�B.9�$#/3�!�$#!�3�>�ก��/0�%
&$� 
 
4�������ก���������� 

&0��%���
�!�$#!�3�>�ก��/0�%
&$�'(
!�9��!��45 	�
&0�	A�#	�
��E 2549   
- �#	�
��E'=8�.
�           (��ก!��D����(  4.3.1) 
- �#	�
��E=(	�
2�C�5    (��ก!��D����(  4.3.2) 
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������ก���������������������ก��
 ! 4 ก����)	� 

�	����# 6

 ! 

#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 
��'��ก��

������������ 
4.4 ��
�!�$#!�3����%
&$�'(
���

!�9��!��45&�กF����ก
!"�#$��8�&0��%���&���5
	�
&0� 
 

1. &0��%���
�!�$#!�3����%
&$�'(
���!�9��!��45&�กF����ก
!"�#$��/8�ก$#   3,352,750   #�/ 

2. &0��%���&���5	�
&0�/$-�D�.(B�8�$#�%�/,7(�G1กH�) 812  4� 
3. ��
�!�$#!�3����%
&$� ���!�9��!��45&�กF����ก!"�#$��8�

&0��%���&���5	�
&0�   4,129   #�/�8�4� (1/2) 

�ก$[�ก���������  : 
1 ��'�� = ��@8�
D%8�� 1 - 16,999.- #�/ 

2 ��'�� = 17,000.-#�/ h 24,999.- #�/ 
3 ��'�� = ��กก%8�D�6��/8�ก$# 25,000.- #�/ 
 

 
 
1 

 
)�(�(�� 

D�8%�����,ก��!�$#!�3�>D9��&���5'(
#34(�ก��,G$ก�F�)!����"' 8� $�>�ก�� ��$#/3�!�$#!�3�&�กF����ก  '(
� 9��8%��4�6� 8��ก$#!"�#$��67� g  
 

�W))	���	����� 
-  �D�%
/��($��,�2�#��!�$#!�3�>D9��&���5'(
#34(�ก�   /0�%
&$�B.9/3ก	�
�F/ 

-  ��&���5'(
#34(�ก� ���D�%
/��($�_   >D94%��!0�4$Q ��ก��/0�%
&$� 
 

�W
��'��������� 
>�ก��&$.�กc# 9��@(&�ก4E
�8��g   �,4%��(8�C9�  ��67��&�ก�9��	�
!��ก$#4E
�8�� g  D(��D�8%����  /0�>D9 9��@(B.9��B�8!�#@�E54�#.9%�  

 

)�(
 !���*	+�� 
	�
!��'(
!�9��4%���8%��6��
D%8�� !"�#$�%
&$�'(
)$*��  ก$#4E
�8�� g  >D9�ก
.4%��� 9�>&���ก$�  '(
!8� 9��@(>D9!"�#$�%
&$�'(
)$*��4�#"9%� 

 

4�������ก���������� 
��ก!��'!.�&0��%���
�/,7B.�$#ก��!�$#!�3�&�กF����ก     (��ก!��D����(    4.4.1) 
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������ก���������������������ก��
 ! 4 ก����)	� 

�	����# 6

 ! 

#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 
��'��ก��

������������ 
4.5 �9��(
 �����%
&$�'(
���!�9��!��45/,7

�,)
�)5�=�')�8B.9�$#ก��&./
�#,��/�$)�5
!
�/��	aQQ� D�6���3!
/;
#$�� D�6��0�B	
>C9	�
2�C�5/$-�>��
.$#C��
'(
>��
.$#
����C��
�8�&0��%���&���5	�
&0�  

1. &0��%����%
&$�'(
���!�9��!��4545/,7�,)
�)5�=�')�8 /$-�>�
�
.$#C��
'(
�
.$#����C��
 �/8�ก$#.....3......��67��/C
-� 

2. &0��%����%
&$�'(
���!�9��!��4545/,7B.9�$#ก��&./
�#,��
/�$)�5!
�/��	aQQ�D�6���3!
/;
#$�� /$-�>��
.$#C��
'(
�
.$#
����C��
 �/8�ก$#.....-......��67��/C
-� 

3. &0��%����%
&$�'(
���!�9��!��4545/,7�0�B	>C9	�
2�C�5/$-�>�
�
.$#C��
'(
�
.$#����C��
 �/8�ก$#...-.....��67��/C
-� 

4. &0��%���&���5	�
&0�/$-�D�.�%�/,7(�G1กH��8� �/8�ก$#.......
892........4� 

5. �9��(
 �����%
&$�'(
���!�9��!��45/,7�,)
�)5�=�')�8B.9�$#ก��
&./
�#,��/�$)�5!
�/��	aQQ�D�6���3!
/;
#$�� D�6��0�B	>C9
	�
2�C�5/$-�>��
.$#C��
'(
�
.$#����C��
�/8�ก$#�9�(

0.34..........(1+2+3)/4 

�ก$[�ก���������  : 
1 ��'�� = �9��(
 1 - �9��(
 19 

2 ��'�� = �9��(
 20 h �9��(
 29 
3 ��'�� = ��กก%8�D�6��/8�ก$#�9��(
 30 
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)�(�(�� 

-   �,ก���#��>D94%���@9'ก8 ��&���5'(
#34(�ก� �ก,7�%ก$#ก��&$.ก��/�$)�5!
�/��	aQQ� 
 

�W))	���	����� 
- !"�#$�%
&$�'(
)$*���,ก��!�$#!�3�ก���,)
�)5�=�')�8=(���>��@	'## ��%��!��%
&$�  '�8B�8!����"�$#�	?�%��!���
.$#����C��
B.9  
        �)��
ก��#��E�;
ก���$� �.  =@9/��43E%3*
&�กF����ก 

 

�W
��'��������� 
-  �.ก��!�$#!�3�ก��%
&$���8���8���67��  /0�>D9B�8!����"!�9��=(���/,7�,)
�)5B.9>��
.$#����C��
 
-  �.�
##!�$#!�3��#	�
��Eก���,)
�)5>�%��!���8��	�
�/G  �%�/$-��$� �.�
�#,�#/,7��6-�>D9�$ก%
&$�� ,��=(���%
&$��,)
�)5 

 

)�(
 !���*	+�� 
-   >D9ก��!�$#!�3�>�ก��/0�%
&$�  �)67�>D9���%
&$��$-��0�B	>C9	�
2�C�5 '(
!����"�,)
�)5B.9 )�9��/$-�&$./0��
�#,�#/,7��6-��8�ก��� ,��=(���%
&$��)67�>D9�,)
�)5B.9 

 

4�������ก���������� 
-   ��ก!��'!.�&0��%����%
&$�'(
���!�9��!��45/,7�,)
�)5�=�')�8      (��ก!��D����(  4.5.1) 
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������ก���������������������ก��
 ! 4 ก����)	� 

�	����# 6

 ! 

#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 
��'��ก��

������������ 
4.6 �9��(
 ��#/4%��%
&$�/,7B.9

�$#ก���9���
� (Citation) >� 
refereed journal D�6�>�
U�� 9��@(�
.$#C��
D�6�
�
.$#����C��
�8���&���5
	�
&0�  
 

1. &0��%�#/4%��%
&$�/,7B.9�$#ก���9���
� (Citation) >� Refered Journal D�6�>�
U�� 9��@(�
.$#C��
 �/8�ก$# ......-...........#/4%�� 

2. &0��%�#/4%��%
&$�/,7B.9�$#ก���9���
� (Citation) >� Refered Journal D�6�>�
U�� 9��@(�
.$#����C��
 �/8�ก$# .......-..........#/4%�� 

3. &0��%���&���5	�
&0�/$-�D�.�$#�%�/,7(�G1กH��8� �/8�ก$#..........4� 
4. &0��%��$ก%
&$�	�
&0�/$-�D�.�$#�%�/,7(�G1กH��8� �/8�ก$#.............4� 
5. �9��(
 ��#/4%��%
&$�/,7B.9�$#ก���9���
� (Citation) >� Referred  
    Journal D�6�>�U�� 9��@(�
.$#C��
D�6��
.$#����C��
�8��&���5 
    	�
&0� �/8�ก$#�9��(
......-..........(1+2)/(3+4) 

�ก$[�ก���������  : 
1 ��'�� = �9��(
 1 - �9��(
 14 

2 ��'�� = �9��(
 15 h �9��(
 19 
3 ��'�� = ��กก%8�D�6��/8�ก$#�9��(
 20 
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 !���*	+�� 
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-     ����������������������������������................................. 

 

4�������ก���������� 
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������ก���������������������ก��
 ! 4 ก����)	� 

�	����# 6

 ! 

#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 
��'��ก��

������������ 
4.7 �9��(
 ����&���5	�
&0�B.9�$#/3�/0�

%
&$�D�6����!�9��!��45&�กF��>�'(

F����ก�D�%
/��($�_ 

1. &0��%���&���5	�
&0�/,7B.9�$#/3�/0�%
&$�D�6����!�9��!��45&�ก 
    F��>��D�%
/��($�_...161�.4� 
2. &0��%���&���5	�
&0�/,7B.9�$#/3�/0�%
&$�D�6����!�9��!��45&�ก 
    F����ก�D�%
/��($�_ .....11........4� 
3. &0��%��$ก%
&$�/,7�
>C8��&���5	�
&0�/,7B.9�$#/3�/0�%
&$�D�6���� 
    !�9��!��45&�กF��>��D�%
/��($�_ .....-.....4� 
4. &0��%��$ก%
&$�/,7�
>C8��&���5	�
&0�/,7B.9�$#/3�/0�%
&$�D�6���� 
    !�9��!��45&�กF����ก�D�%
/��($�_ ....-.....4� 
5. &0��%���&���5	�
&0�/$-�D�.B�8�$#�%�/,7(�G1กH��8�   812 4� 
6. &0��%��$ก%
&$�	�
&0�/$-�D�.B�8�$#�%�/,7(�G1กH��8�...-.......4� 
7. �9��(
 ����&���5	�
&0�/,7B.9�$#/3�/0�%
&$�D�6����!�9��!��45 
    &�กF��>�'(
F����ก�D�%
/��($�_ �/8�ก$#�9��(
    21.18 
     ((1+2+3+4)x100)/(5+6) 

1 ��'�� = �9��ก%8��9��(
 40 

2 ��'�� = ��กก%8�D�6��/8�ก$#�9��(
 40 
3 ��'�� = ��กก%8�D�6��/8�ก$#�9��(
 60 
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)�(�(�� 

D�8%�����,ก��&$.24��ก���#��!$�����)67�)$*��G$ก�F�)�$ก%
&$�  >D9'ก8��&���5'(
#34(�ก� ���D�%
/��($�_ 
 

�W))	���	����� 
- �D�%
/��($�>D9ก��!�$#!�3���&���5'(
#34(�ก�B	/0�%
&$�/3ก	�
�F/ 2.�>D9ก��!�$#!�3�.9���#	�
��E 
- ��&���5'(
#34(�ก� ���D�%
/��($��	?�=@9�,4%���@9 4%��!����" 
 

�W
��'��������� 
- �#	�
��E/,7!�$#!�3�>D9��&���5/0�%
&$��,�9��  /0�>D9�$ก%
&$�)(�.2�ก�!>�ก��/0�%
&$� 
- ��67��&�กC8��/��ก���$#/3�/0�%
&$� ����&���5�,D(��C8��/��  ก���%#�%� 9��@(>D94�#"9%�&1�/0�B.948�� 9����ก 

 

)�(
 !���*	+�� 
-  '!%�D�'D(8�/3�&�กF����ก�)67�>D9ก��!�$#!�3�'ก8�$ก%
&$��)67�!�9��=(���%
&$� 

 

4�������ก���������� 
-   ��ก!��'!.����C67���&���5'(
�$ก%
&$�/,7B.9�$#/3�/0�%
&$�&�กF��>�      (��ก!��D����(  4.7.1) 

              -   ��ก!��'!.����C67���&���5'(
�$ก%
&$�/,7B.9�$#/3�/0�%
&$�&�กF����ก   (��ก!��D����(  4.7.2) 
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������ก���������������������ก��
 ! 5  ก�����ก����#�ก��'ก��	��� 
�	����# 6


 ! 
#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 

��'��ก��
������������ 

5.1 �,�
##'(
ก(Bก>�ก��#�
ก��/��
%
C�ก��'ก8!$�4�����	b�D��� ��
!"�#$�  
 

1. &$./0�'=�ก��.0���
���� ��4(
�
ก�/42�2(�, 	�
&0�	A  
2. &$./0�40�!$7�'�8��$-�4E
/0����4(
�
ก�/42�2(�, 
3. �,�
�#,�#ก��>D9#�
ก��%
C�ก��'ก8!$�4� 
4. �,ก��������=(ก��.0���
����	�
&0�	A  24��ก��/,7B.9�$#�#     
&�ก4(
�
ก�/42�2(�, 
5. �,ก��	�
��
�=(�	?�������+#$#!�#@�E5 

�ก$[�����K�� : ��(	�  
1. �,ก��&$./0��2�#�� '=�ก(�3/;5 '(
'=�.0���
���� ��ก��
#�
ก��%
C�ก��'ก8!$�4�  
2. �,4E
ก���ก�� 4E
/0����D�6�D�8%����.0���
�ก��>D9
#�
ก��%
C�ก��'ก8!$�4����'=�/,7ก0�D�.  
3. �,ก��ก0�D�.D($ก�กE`5'(
D�6��
�#,�#>�ก��>D9#�
ก��
%
C�ก��'ก8!$�4�  
4. �,ก��	�
��
�=(ก��	i
#$�
������'=�/,7ก0�D�.  
5. �,ก���0�=(ก��	�
��
�B		�$#	�3�ก��#�
ก��%
C�ก��'ก8
!$�4�  
6. �,ก��&$./0�'=�ก���C67��2��'(
#@�E�ก�� 
ก��#�
ก��/��%
C�ก��'ก8!$�4�� 9�ก$#ก����,��ก��!�� D�6�
ก��%
&$� D�6�ก��/0��3#0��3�G
(	%$*�;���  
7. �,ก��	�
��
�!$�:/;
=('(
�0�=(ก��	�
��
�B	)
&��E�
	�$#	�3�4%���C67��2��'(
#@�E�ก���
D%8��ก��#�
ก��
%
C�ก��'ก8!$�4�ก$#F��ก
&�67� g  ��!"�#$�  
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������ก���������������������ก��
 ! 5  ก�����ก����#�ก��'ก��	��� 

�	����# 6

 ! 

#5!��	����# 6 ��ก��(��������� �ก$[�ก��E����'�� 
��'��ก��

������������ 
   �ก$[�ก���������  : 

1 ��'�� = �,ก��.0���
�ก��B�84�# 5  9�'�ก 

2 ��'�� = �,ก��.0���
�ก�� 5-6  9�'�ก 
3 ��'�� = �,ก��.0���
�ก��4�#/3ก 9� 
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-     �,#34(�ก�/0�D�9�/,7>�ก��	�
!�����24��ก��2.��+)�
 

-     �,ก��!�$#!�3��#	�
��E &�กก�
/�%�%
/��G�!��5'(
�/42�2(�,/3ก	A 
�W))	���	����� 

-     �,ก��!�$#!�3�>�.9���#	�
��E	�
&0�	A &�ก	�
/�%�%
/��G�!��5_ 

-     �,4E
/0����/,7�$#=
.C�#���24��ก���+)�
/0�>D9ก��.0���
�����	?�B	.9%�4%��!
.%ก 
�W
��'��������� 

-     �#	�
��E/,7B.9�$#ก��!�$#!�3��$��,�9�� 
)�(
 !���*	+�� 

-     4%��,ก��	�
C�!$�)$�;5>D9/3กD�8%�����,!8%��8%�>�ก��&$./0�'=�ก��.0���
����	�
&0�	A 
-     4%��,ก��!�$#!�3��#	�
��E&�ก/���D�%
/��($�_   �,กC8��/��D�17� 

4�������ก���������� 
-    '=�ก��.0���
����4(
�
ก�/42�2(�,	�
&0�	A 2549                                              (��ก!��D����(    5.1.1) 
-    40�!$7�'�8��$-�4E
/0����4(
�
ก�/42�2(�, �D�%
/��($��/42�2(�,��C��4(;$Q#3�,   /,7 964/2548     (��ก!��D����(    5.1.2) 
-      '##j��5�ก���!�� ��#	�
��E	�
&0�	A  4(
�
ก�/42�2(�,                             (��ก!��D����(    5.1.3) 
-      ������=(ก��	i
#$�
��� 	�
&0�	A 2549 4(
�
ก�/42�2(�,                                  (��ก!��D����(    5.1.4) 
-      �
�#,�#%8�.9%�24��ก��#�
ก��!$�4� ��!"�#$�_ ).G. 2545                              (��ก!��D����(    5.1.5)  
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